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AW 2(H) wWAHYHEAY) Mg &HEE(%)
o= (A) (B) (C=(A/B)x100)
= sStydel | Mt | stydR | XEde | stdEE | Xstde
7|& 7|1E 7|1=E 7|1E 2|1&E 7|1E
20151 37 37 42 44 88.10% | 84.09%
2016 37 37 43 43 86.05% | 86.05%
20174 38 38 42 43 90.48% | 88.37%
e 88.21% | 86.17%
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EEZIR
oz ki UL 7| EUE () | WAL SHEB(%)
ST [ ojeas [ xaAae | arad | Aa) (B) (C=(A/B)X100)
20174 13,626 6,141 36 19,803 10,846 182.58
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AR FA
4-t}, AYA = A3
EERIR
el el el AYM
ol s eIstEe(Y) | elSHRKY o ol () 228(%)
(A) (B) (C=(A/B)x100)
20154 122 122 122 100
20164 122 122 122 100
20174 122 122 122 100
o 100
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Aol SIAl XIA X A2l =3
T xH;Mcﬂ*T*H(nca) %i?(%) ) ‘i_.;(j | 0%_%31;;)@
(A) (C) (D={A/(B-C)}x100)
20154 481 488 0 98.6
20164 460 488 0 94.3
20174 449 488 0 92
B 94.97
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L4+Mol=7{ 5 wSH| =s
LTI DU )
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AR FA
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O 24 %
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= (A) (B) (C=(A/B)%100)
20154 7,995,591 6,538,003 122.29%
20164 7,451,772 6,445,223 115.62%
20174 7,707,185 6,321,295 121.92%
oo 119.95%
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Zetg dlg(%) = T X 100 10%
[Shmi=] (ﬂ)
O A A=
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12-t-1. Astw 3 %
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Zstg o dg e ey SE2 [y
i o =
"IlHE | po|atstz e a3 B ®) AFSZ H[S
(AR 2 7[Eh | = (A) (C=(A/B)X100)
20144 60,967 118,479 526,428 526,621 1,232,495
20154 73,332 115,136 563,161 519,014 1,270,643
2016 67,627 112,864 594,867 612,523 1,387,881
g

HE et (HY) s5=(E2) etz E(%)
2015 587,395 3,936,064 14.92
2016 636,493 3,894,101 16.34
2017 662,494 3,648,689 18.15
g 16.47




